) o8 7L ™)
-TEACHERS QAN 986 I210108 | sagde Aug 6w aeedq 1§ OMR J46Q A*9
addazwra 717 / e¢1 o5 aga ean QA A°Y4 NED ORI / 1R @O |

addaay

Choose the correct answer from among them and
ly in the OMR Sheet with Blue / Black ball point pen.

Fach question has four possible answers.
darken the appropriate circle complete

[ dg A6 6 dIFRIe ]
(CHILD DEVELOPMENT & PEDAGOGY |

) Q‘QQ QA6 2SR ZlUGe aR ZNE] U j £ Who gave importance to self realisation

BUGR VAR @ AL UK QAU 7 as a medium for further research on
personahity development ?

(A) 2196216 (A)  Allport

(B) €Q1909Q (B) Ragors

(C) QIwel O (C) Malati Mattu

(D) o (D) Chadha

2. Q6QI8 Aug 6@WT
6RIQAS I8

@ Qo PQae Which of the following is not a law of

Wl TEACHERS 1

(A)
(B)
(&
(D)
3 S6a 200 49 : 3. A good teacher is to
. (A) BI7 goIe @aaz13 ¢ aldl we6ea (A)  provide knowledge and prepare
paEINeE 996 SRS | the students for examination.

(B) Qe181€G J0@ G0 cNgQl aee (B) prepare the students tor right

- ) e answers o be  written In
amiadiniee G99 @Al |

-

examination.

C) GEEINNS Nd6a GRIF WL ol (C) provide authentic  learning
( | 166

QEIGI QEIA 6OQ! Q6T Q66T (JrIIE situations and facilitate

06 Q069@ CRIGINEL Y independent thinking, among, the

students.

(D) QG AN 6 CIONGE MG P (I tollow the time table and course

Q! -

strictly .

- (2) (Continued)
OTET/P-1



seT -(C)

gecue gge CI6RIE AdINY ae QNG | 6AgFe Nug O uaade @18 OMR aqReq A°Y9
QT IR / ORI A ONE ARF QG A4 RIS @Rl / 1R @a |

Each question has four possible answers. Choose the correct answer from among them and
darken the appropriate circle completely in the OMR Sheet with Blue / Black ball point pen.

[ dig a@I1a @ dgIFRIe ]

|CHILD DEVELOPMENT & PEDAGOGY |

QIBQ QYAER ANG ZRIAS il 2 JOULDe! : Who gave importance to self realisation
AR AUVEQ @ GQQ Y9 @Rel6m ? as a medium for further research on
' personality development ?

(A) WA (A)  Allport

(B) 6QI9QQq (B) Ragors

(C) AIRe1 A8 (C) Malati Mattu

(D) ol (D) Chadha

F6qIe quq QU8 alegae Qo G908 | 27 _Which ofithe fallpvire is not a law of

621021 °AFFER LU @_Gﬁ“ ) heredity as propounded by Mandel ?

(A) Qe QG¢ (A) Mike begets like

(B) Q@6 G a ( aucof variation

(C) geuone 9 ( regression

(D) AQIUNGI FLe (D) Law of unusualness

@64 QA J49Q : 3. A good teacher is to :

(A) RIS QI Q@Q21218 6 daidl Q763 (A) provide knowledge and prepare
asaleimm@ 99 @22 | the students for examination.

(B) 9Qigieq A0@ 989 A G06w (B) prepare the students for right
diehniesg 9ge @e1E | answers to be written in

examination.

(C) dRIENIes Fea QRIe AW T3 (€) provide authentic learning
@AQIq Y6LIS 6091 A6H A6E g situations and facilitate
96 aGicQd 6AIRINEAR independent thinking among the

students.

(D) QG AIQET B DIOIRA HALIQ 2AFAQE (D) follow the time table and course

QQ! strictly.
OTET/P-1 (2)
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SET -

Teachers are advised to involve their

(4)

OTET/P-1

986 o016 NIER CANIPSY aashniee 9.
Peae G:»Ow@ﬂ&'@ A8 @899 aeng students in group activities because,
cLRaITIB | 6QARNER AIRIAY QAAI21F besides learning they help in :
(A) Q% (A) Conflict
(B) @l (B) Jealousy
(C) Searneay () Kngreasion
(0) WERENaae (D) Socialisation
10. ﬂ?@l 881 8768 1958-59 60 906 @618 | 10. What is the name of the committee
erce /A @@ 7 established in 1958-59 pertaining to
women education ?
(A) 6QI0IQ1 @0 (A) Kothari Committee
(B) qei@zie ¢ (B)  Mudaliar Committee
(C) <QdIRR 6249¢ Qfd (C) Durga Bai Deshmukh Committee
(D) (D) Radhakrishna Committee
11. is not a
characteristic of learning activity ?
(C) dgire)we allengmg
(D) <@ 6@ldw die Q6aIe Q8 Opportunity for multiple skill
development
12. 48 2YRIe AYFA-2009 Q 609 A 12. According to which article of RTE-2009,
agaIal 6916d dge d101ae @8 QI AIede any form of physical or mental
adierl dzIQIR QIR Q1P ? punishment cannot be administered to a
child ?
(A) dial 14(2) (A) Article 14(2)
(B) el 17(1) (B) Article 17(1)
() el 24(1-A) (C) Article 24(1-A)
(D) el 290 (D) Article 29(2)
e et

(Continued)



13.  6@uC AnIaeee g9 ggda @aa Q6% ?

(A) Q< @Q@ gaIr IS6q gaIe agel
@90 6w

(B) 6QIGq 9gea QLeYeI §RugIe
QAYIRAES

(C) aP@a 2d geid @qael QI8 Qe
699 QI

(D) gg6a gea §aingeaa 62dy aeal
Jig AN 6211 ARG,

14. <86 9§QIq QIERaAQ FRIdg QIeE 686
JdiQem, 486 IRIQ 621N | MLl
24ieInes 69 G896 Sa¢ 23S ?

(A) /2R 399

(B) 998 @aq a
(C) aase {ad

(D) adeiaees dg6 Ga¢ 2068 96¢

15. ‘‘d96 999l RUe 9AQIeal @169
266908l @ 6@Q19 @AIQIA | A7 LR
F9E69 60600 gela 2Wedad a8lo
QIeca Bauie el @de I’ ¥@ a8dq
Ga @%gem ?

(A) UCRRAR

(B) 6@

(C) 9eQ

(D) Gaeadie
o

13;

14.

15.

SET -(C

Which of the following is not a rule for
preparing completion type of questions ?

(A) Blanks should not be kept in the

beginning of a sentence or

statement.

(B)

There can be multiple blanks in a
single question.

A sentence having ambiguity in

meaning should not be used.

(D) The length of blanks in the question

must be nearly.

If a learner, not interested in Mathematics,
is forced to study the subject, then the
learning is not fruitful. This is explained
by which law of Thorndike ?

) Laws of exercise
ws of readiness
ws of effect

(D) Doesn’t belong to any law of
Thorndike

“Motivation is the central factor in the
effective management of the process of
learning. Some type of motivation must
be present in all learning”. Who said
this ?
(A)
(B)
©)
(D)

Atkinson
Kelly
Skinner

Guilford

OTET/P-1

(5)

(Continued)



16.

i iy

18.

18,

(UG AEORSIE (880 FPold 6w 7

(A) QEeqaa Q768 geale Q&
(B) Omig 99 G210 @6QIQ aQi9e ofe|
(C) Ga6, 490w Q0 PARe 629

(D) QAQyl ATRIS T8 QIR ARl
@U6R QY AT KeR

A9 ANIER LNV 81 RIdIRrea a6
QFER AIOIYLR 990 FAAIRNE 7

(A) @R
(B) c@igl
(©) @ge
(D) Gaue

2T AEREA dANIGS ARG 8G 90
190IQ JQIdQ 6QIC 6991 FF6R Iae
60 QIR SRULIRAIN 2

(A)  eAlge QPoy Q°ge
(B) Qe d8¢ Qg gge

(C) <o age
(D) Q1%, 964 @A

69 949UI6R 209 ARG FFq @ ool
999 Ge8n Jaidia d91 QIAQ 6paad ?

(A) Q9F¢ &g
(B) zefeosn dg
(C) Qoa 44l

(D)  Qried dsi

\

OTET/P-1

16.

17.

19,

seT -(C)

Which of the following is not an

educational implication of

constructivism ?

(A) Creating scope for self analysis

(B) Inspire child to frame questions

(C) Learning to be controlled by
teachers

(D) Giving importance to realistic
approach for problem solving

In our state, under multilingual

education programme, books have not

been published in which of the following

languages ?

(A) Kisan

(B)... Koya

(G’ Bhatudi

(Dj  Oram

areas, whichai% a function

bysSrujan to provide an

y to'students to let go of fear

and express themselves freely ?

(A) Oral literature collection

(B)  Preparation of bilingual teaching
aids

(C) Story telling festival

(D) Song and dance festival

In which System, regular teachers and

resourceful teacherg take responsibility
for education of differe
students ?

(A) Integrated education
(B)  Inclusive educatiop
(C)  Special education,

ntly abled

(D) General educati, m

(6)

127979

il .nnhl‘“‘““



20.

21.

22.

23.

(B

(@60 2ARCE FMNRUR cOTY P16 ?

(A) 9200 dRIAIeE AIQ N6l 6441
6Q100Q Qg
daleinies aivey ad6a gae,
@RUAIREIN

(C) dR1eha QeeeIq 2X@ §aq daIard

(D) @94 gaaiea doIfIel eI

6210211Q :

Q89 aQIgie dais Ga6e caa 9866
NP 2SRl 2T ?

(A)
(B)

eellge 9RG L 7 ' -
Qe 980 127873
(C) 98 98¢

(D) 20R4 980

60@6 dIFe A°EORNR clswaa

Q6% ?
(A)
(B)
(©)
(D)

QIRG!

|19

&3

4GRe Mg 6aaaT gL

(United Nations Convention on the Right
of Child) UNCRC 2QqIa1 Qdelfme
giede dal dga 6aa ANRIQ UGS ?

(A)
(B)
(©)
(D)

QEAIQ IR
QRN 2RI
JogIa AN
UAGRE @QRIQ 2NN

20.

21.

23,

SET -(C

Which of the following is a characteristic
of inclusive school ?

(A) Arrangement of separate classroom

for differently abled students.
(B) Students are imparted as per their
capability.
(C) Weakness of students is given
special attention.
(D) Parents are an integral part of

learning process.

Students suffering from cerebral palsy
requires which teaching method ?

(A) Oral method
(B)
(©
D) Role play method

Play way method
Project method

one of the following is not a major
concept of social constructivism ?

(A)
(B)
©)
(D)

Reality
Knowledge
Learning

None of these

According to UNCRC, compulsory

elementary education comes under which

right of a child ?
(A)
(B)
(©)
(D)

Right to live
Right of development
Right to safety

Right of participation

(7)

(€ ‘ontinued)



24,

25;

26.

27.

OTET/P-I

ROW Q°QIF AI0YYLR 989 aie Ganiecy
VA0 28 REQI-6RW JRIRR aNIae ?

(A) Qvegie
(B) @0RqRe
(C) Fe9e
(D) <aidgee

S—

‘AN6YQEIR 9]’ Anmeq @y 99 Qoq!
RAER, LN 6Q 24 & 0] 4doIe
@Qeem ?

(A) 6.Q. FveQe

(B) @cdeas

(C) 48.09. edia

(D) @.6.60Q

QUL FYAIE QIR 2NRAA - 1995 6@ o’a
el *QUAIRE ?

Q@ 9d adye fla€l ag
geaiNe dalaies aig gloua
QAR 60T QUTIQ Yo

Qa0 QULIe IRl 2R 691198 Negl

(A)
(B)

(©

(D) <g§e Aug 6MaG Qe

RIND AIOIRY 2RIIA-2005 Q FIGREN B
QUEQ 6QUT ARG ?

(A) TR PR OT6R IR 2ILRd 9ad

(B) 6QIfQl Qa1 d84 1dRIg1 ceiqelg

(©) S9eq gq @l QeI Gl 24e dgaicq
Q1@

QAAQY QAARIIRARS ALl i
ALQEER ALINQ 99

(D)

24.

25,

26.

27,

SET -(C|

Knowing the ability of children to study
a new English language textbook comes
under which type of evaluation ?

(A)
(B)
(C)
(D)

Placement
Formative
Diagnostic

Summative

Who has written the book, “Theory of
Motivation” in which he has given 24
theories of motivation ?

(A) K.B. Madson

(B) Atkinson

(C) H.W. Bernard

(D) D.O. Hebb

Which of-thefollowing is a provision
Persons..with Disabilities

Act - 1995 ?

under

) e education till. 14, yrs. of age.
ision of ‘enly one language in
iculumfor hearing impaired

children.

Provision of financial assistance for
regular attendance.
None of the above.

(©)
(D)

Which of the following is related to the

principles under NCF-2005 ?

(A)  Students acquire knowledge in their
own way.

(B) Rote learning resy]ts in longer

retention,

(€)  Student unapje to learn better by
asking questions to teacher.

(D) Problem solving approach helps -

acquirlng know ledge.

(8)

((\mtinumﬂ



SET -(C

28. 6&\(’4, %g =
o WY QUWEQ Ag0I66 aadl 6 o 2
y'o %'| ?Jl(;‘ i y < .
600 ORIa 6RI@2g 7 28. At tht age, in a child does emotion, like
(A) 2 o ‘ curiosity and shyness develop ?
( - (A) 2yrs.
B) 5 ad
: (B) 5 yrs.
(C) 129
) o (C) 12 yrs.
D <
(D) 18 @@ (D) 18 yrs.
29, A6e & = = .
2@ Q? cldl ?QQGQ @IQ1L DI (1986) 29. What was the recommendation made by
@ €l QUId @QUIQEmI ? the National Education Policy (1986) in
relation to Integrated Education ?
(A) @R @2 d96 6da1 6 2IaIac ada (A) Students, who need different
AKIENCNER 9RG F% L6 @R6R | learning technique and
requirement, will learn together.
(B) &afie cgdl dga da1919a Q14Q (B) Regular class teachers will take
6R6Q | responsibility for teaching.
(C) 2e G Qe 2FAeI Gd8 dalIes (C) Less and moderately differently
QRIQE SRR 81 g6 @6ES | abled students will receive
ucation  in _regular/normal
a ools:
(D) Qeaq %‘1;8|311g|gq gmﬁ' QJ@@ IMIPNIR ) pecial schools for differently abled
ouogl | ~ students.
30. 6Qe0 @06 dade @ Al Q6% 7 30. Which of the following is not a demerit
of group learning ?
(A) @R8 i3 Q6ad Q0 gaee 6ee! (A) Being influenced by a certain
individual
(B) 660 mid Gaa girIRi @919 @08 (B) Some students exhibit their
dominance
(C) 69193 QIdig @9 @areq QIR @ (C) Not completing a task in an
s = appropriate manner
2 . students don’t get the
Sas] olae A0 @06dIde (D) Many s _
2 asgr; 2:2:;1@2& opportunity to utilize enough time
E in an activity
I
I ——
(Cnntinucdl

OTET/P-1

9)
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o o O S @ Ql QG‘Q gol‘.
498 aQepefe a6 Aqea Gmamgel aq | 31 € e

( ) 46 qalem @@a ?
@ 31 q @° 35) P00 QR0 6R | ) i
aei Qe e 9608 T

Q8 @ I9Q JOIREER Qdg AINIRe ZIeE (Al .
RER | QBN AIBRAG 6991, AT 6F 684, (B) GoIIGIE ARERA AR ML
AAIFR 2ed | Q8 Q1 IS 69 AR ALAAE *Qel
QR2ER AGRIA AR 6RIRRNIBI | 9 QF Aay 21eq! () @iagal 6 2adqIan Q6 QAR
QIR FIG G6L, ALY QDT 691 & 26e A 2aes (D) 6BoIaq AR GHERLRIY

S%019q. AN 690RI6a ALACIN BIF AR 6Q1h &

26N AAICAILQ IORY A6] 6926 Q1€ Al ) -
) i, 32, 266 AIIEAIRY @914 62QDINAX I

6RIRUIQ | @NORIS 6201 IR JIF G ZICRINA §AIE0

=

a8geId | 190 9IQ-98 AR

9Q° 2Q0IQ 0Qe Wa |
QY6 P90 §06a Q
Qg8 B 9ol

dtla =1

QORER 6201 Q6T A6 AIRILIR 6967 ARG AFIR ey aReeIg

6Q0RIEQ e 2

QQIE8 Ay @Flaal 16caad ANl | &g QElIY,

64 92 RPREN NEY gedees adiede Qi | o
33. QIR 0QQ Q@ @' ?

A°9g-0ae @4 G019, A9 EQ I8 QI
(A) 982 |18 6 [N A[[a") R aageld

W6l QGRS 9Adqig

Q8 R€ae QNG 699 die Al Z66Ye, Q19

QLGP 29°-A0Q RIEN AR(e 6Ll | 6aW

QRIS 2T 666RI6 GFANE P AN, SI9Ig B o0 anad QR 21y gyjyidR OO
QAIRR U9¥IR 660 AVAINR @6 J6RIP6 8 ARIe (©) ud auiag qig f90e 9gaed
QNED AFA QLEG), RO CLLR 66 Zwl 6AR0I6H D) eag & ]

- o aqgld
QERI | @3 9 QAR QLG PINVILE Qe 7 QY 4

OTET/P-I (10)
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35.

Q4 ARTQ AELEY Q'8 agl ?
(A)
(B)

PRI 2UQAIR @ AEI08 269
RIQIRIQ €960R! A9 TN ale
@fdal A8Iad

(©)
(D)

QR0 MBAIRG ARG TR 629
NIQ IR AQAIER QR Felaa QRINS!
geie

Q21 §01egi6a AFI0e AERI@ ?

(A)
(B)
(©)
(D)

161980
6Q18Q0IQ
6QQRQ
600RIQ)

fgee @G0rad AI0ea R QLIRS dd
(e° 36 Q @° 40) GEAQ QAA WS

QIR F6aa caR 6AI8e 63w
6@ 6469 dgra eeadml ALl sa
25 69d 63 2168 @I dIQ AW

6d 2160, APIER, 9d AR 1 AAR ?

5 com R196-ql2, @9 Q@0 A6,
gel 661IR 69N QIF, BIR-TR 696 Q166 |
3 Gq1d AR 6@ 89, WER, AL
ol 20 dgaR, A8 agaea 99

QIIe 92 6719, @l 6a qIReS;
o1 26die Q6% Il A1BI OIgaldl;
cd QIf 64 AAQBEH, F1Q6R Of AW Qe ?
cQ FRJS REERIR 2RIAR QPaIR ?
caQ-62Q1 g6m al6d, geleiml 2Iaee,
QaRI6Q AR, 6RIGLP RARER,
agam 2eae, Aal gid qeRInm,

0ged GgaR 2RR-Ya 9@ |

d

36.

37;

39,

SET -(C

6849 QIRQ 6RY QY AT IR ARERIG!
AR ?

(A)
(B)
(©)

219 RUEq 96l Sda
geIa edledy
AR AIQ

(D) 9NENR KGR 688l

90d 9F 06 @@ Qgs QIR @6 AIRas ?
Q8

Qadl

RIP

(L)

Q6o Q121 §8.-0sa dgae @aq
@l ?

21900
QYO
6QIe

24

Qe g2 6 QeIE Qs @ILId! g8 @dea
Jgoe @8 @gaal ?
(A) QAQsel 62agM

(B)
(©)

200 62N
Q150 c2AWI

(D) Qg0 ceadal

—

(11)

(« “ontinued)
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d spwelell  (4)

ol (9)
BIBILIB (V)

sleR (V)

. . i 1998038 holBhek 3889  6¥
, 398 ook vo 6B, 9By TS

6L6L21

9B PBBING BYIBBIKG  (C ©38 hBIBIB

vIIees BBk Bobel Biuew vsis ()

19RO BIBSHG IBE (D)
> BIBE BB’ 1Wek (D)

19RO iy (d)
3 03B Luslvh vesiy  (g)

o> b (V)
NOB BIBS BRIGIHEIBY 13> (V)

, BIRS 195HBIR BhB3IBIB
=EBBESBE BID BB VOB BBY OB IS . B3IB BEIIBE BIG IRIBE IBE BOSIhG 8
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(1) I-d /1410
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SET -(C |

(L-ENGLISH )

61. The categorywise act;
actio :
developed by o N verbs list was 65. When, in a specific situation, rules are
" o applied, we call the method
(A)  BS. Bloom (A) deductive
(B) RCEM approach (B) incidental
(©) Rob (C) inductive
anert Mager (D) correlative
(D) Robert Miller
66. There should be a ‘word bank’ in every
primary school because it helps build-up
62. Continuous comprehensive evaluation | .. ,
emphasises (A) conception
- (B) vocabulary
(A) product evaluation (©) wiriting skl
(B) process evaluation (D) reading readiness
(C) term end evaluation
67. . When I him, he was playing
(D) summative Chess.
see
63. Sheavoids there. a ae vt
(A) togo had seen
(B) 89 68. Hema told me story.
(C) going (A) a fantastic ghost incredible
to going (B) a fantastic incredible ghost
a ’ (C) an incredible fantastic ghost
(D) an incredible ghost fantastic
64. Hemant could not reach the station 1n
. time owing t0 ————— 69. Substitution table drills helps the teachers
5 n
(A) hedvy erfhes (A) developing free writing skills
(B) heavy traffic (B) evaluating the listening skills
Jots of traffics (C) improving fluency of learners
(C) k (D) giving controlled language practice
(D) much traffics
(31) (Continued)

OTET/ P!



~/

70.

71.

12

73,

The .detailed and careful technique of
reading a text is known as

(A)  skimming
(B) scanning
(C) intensive reading

(D) extensive reading

Formative assessment does not help in

(A) identifying the learner’s weaknesses
in learning.

(B) providing opportunity to the
learners to improve their work after
getting feedback.

teachers to modify

(©)
ing strategi

rs to secu

(A)
(B) intonation
(C) stress

(D) pronuncia tion

Learning English in India is important

because
ght in all English Medium

(A) itis tau
schools.

(B) it is the language®
colonizers.

B : A €.
(C) itisa foreign languag,
language in a

of our powerful

74.

75.

76.

78.

SET -(C|

one-rupee note.

He gave me
(A) an

(B) a

(C) the
(D) many

They have been studying
(A) hard all day at home
(B) all day hard at home
(C) at home hard all day
(D) hard at home all day

He was ashamed his
misbehaviour.
(A) with

E H_q Monday last.
A

(B) since
(€) in
(D) for

Which of the following is correctly

punctuated ?

(A) He said to me be prepared for the
worst.

(B)  He said to me “Be prepared for the
worst.”

(C)  He said to me, “be prepared for the
worst.”

(D) He said to me, Be prepared for the
worst.

D) it is a link :
v multi-lingual country.

(32)

OTET/P-I

(Continued)



SET -(C

What poses a problem  for adul

79. Netther of the boy
@ bike i
(A) has got education ?
(B was got (A) Nliteracy
(¢ ) have pot ‘B) p‘w""y
(17)  has been got (C)  Shortage of teachers
(1) Village environment
80 Our Constitution recommends English as 82.  How is the job of a farmer 7
(A) Pleasant
(A)a compulsory subject in education (B)  Strenuous
(B) a languagq.- ol admission (C) Delightful
(C)  an associate official language (D) FEasy
(D) a hingua franca
83.  What do the village people find about the
education given at the adult centers 7
costly

Read the pass:
questions ( No
the correct al

The
iliterate

problems
of teachers for adult education anc

hand. the adults feel shy of starting to learn at
Morcover, as most of the villagers
(A)

a late age
are farmers and the job of a farmer 1s very
ser has little hme to

(©)

s no bearing on

Learning 1s not interesting

«

How can adult education be made more

meaningtul for farmers ’
It should be usetul and work-based.

(B) It should be cheap

strenuous, an adult villay

spare for attending classes In addition, he finds _

that what is taught at adult centers of education (C) It should not be strenuous
Therefor. (D) It should be emovable

has no bearing on his daily nevds
he 1s not interested in ot It 1s necessary o make
waningful for farmers
”S. lh.‘ Wl'rt| 'h"drln’: n th(' P“*‘tlgl" IS

adult education more 1 ‘
in the villages. It she wuld be made usetul anc

. ' t
work-based to arouse the intern «t of the adul

| adopt a system (A} an adjective

villagers. The tead hers should

of education in which carniny, and learning po (B)  an adverb
together.  Eftorts to enhance adult cducation |

will ultimately discourage the need to miyrate (C) a noun

to towns for [Q.-ttvr ....unmp',‘/J» (D) averb

———

sk (Continued)

OTET/P-1



Read the passage carefully and answer the
questions (No. 86 to 90) that follow choosing
the correct alternatives given :

Yet another great defect of our civilization
is that it does not know what to do with its
knowledge. Science, as we have seen, has given
us powers fit for Gods, yet we use them like
small children.

For example, we do not know how to
manage our machines. Machines, as | have
already explained, were made to be man’s
servants; vet he has grown so dependent on
them that they are in a fair way to become his
masters. Already most men spend most of their
lives looking after and waiting upon machines.
And the machines
must be fed with

stern masters. The\

up, and sp

them. So we have to wait upon them very
attentively and do all that we can to keep them
in a good temper. Already we find it difficult
either to work or play without the machines,
and a time may come when they will rule us

together, just as we rule the anmimals.

86. ~does not know what to do
with its knowledge.

(A) Science

(B) Man

(C) Machine

(D) Our Civilization

B7.

88.

90.

SET-C

The machines, according to the writer,
are in a fair way to become man’s masters
because of his

(A) too much dependence on them

(B) knowledge with which he manages
machines

(C) faith in the powers of the machines
(D) too little dependence on them

Machines must be given to
wash with.

(A) petrol
(B) coal

erthemachmes

demand
(B) expect
(C) want

(D) usually get

‘Blow up’ in the passage means

(A) to destroy
(B) to lose temper
(C) to wamn

(D) tostop burning

OTET/P-1

(34)

(Continued)



91.

92.

93.

6RNE Afoe 689 Q36 qeq QI ?

(A) QN6 Smie

(B)  o@0ee 98996 dme
(C) o dgie

(D) 96 GRie

WEE gl 9@ Beienen gogRe! QR |
A1 el 60% 6RIe Tin 78 Ge 6RISER
QR 626m | 99 85 ¢a 6WIG RIPS 621RAIN,
666 6CITER 6RE6E & 6RIS CRIRAR ?

(A) 562
(B) 482
(C) 475
(D) 745

4 ] 9 nk was lth part filled with water.
66lIcN QEQ TP aRIE A | d = |
5 06 @0@l J6a 98tQ — ding12 | of water to it, —th of the
12 Qo U8 O

6
415 aBRl | 6669 628 QEF Afd HIRAR
coce  6996q  6@ee @@
QRUIG ?
(A) 36 @.
(B) 42 .
(C) 48 @.

SET -(C

969 / MATHEMATICS)

91.

92.

Which one does not signify the features
of Mathematics ?

(A) Science of Magnitude

(B)  Science of Logical Reasoning

C) Science of Behaviour

(
(D) Science of Calculation

Two candidates contested for a post in
an election. The winner secured 60% of
votes and won by 78 votes. If 85 votes

were declared invalid, then what was the
number of polling ?

(A) 562
(B) 482
(C) 475
(D) | 743

6

space was till left empty. What is the total
quantity of water required to fill up the
tank when its empty ?

(A) 36 lit.

(B) 42 lit.

(C) 48 lit.

(D) 54 lit.

(D) 54 .

—

o @iy ae A9

/ SPACE FOR ROUGH WORK
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94.

95.

96.

1,4,2,86,24,22,88, ., @469
QHYGER Y9 GURAINER 606 QA A°G
QREm @NF OR 69 7

(A) 84, 258

(B) 86, 264

(C) 84,
(D) 86,

cOl8e S919a caw adyiasa dmAIeR
QI§5e IQIRGIRa Al A@ TAEE
cRIQaIZG 7

(A)

a8 3214ad . 4 Q01 SRS 24, 606 ‘A
@ QAIRY MY QNI 6060 62 7

seT -(C)

1,4,2,8,6,24,22,88, _____,
In the given sequence of numbers, what

will be the next two values 7

94.

(A)
(B)
(©)

84, 258
86, 264
84, 336
(D) 86, 344

95. In which period of cognitive

development, children acquainted with

Mathematical conversation ?

TEACHER

ry motor

C) Concrete operation
az=4

96. If 3214a4 is a number divisible by 4.
without leaving any remainder then the

number of possible values of ais:

(A) 3 (A) 3
(B) 4 (B) 4
(C) 5 € >
(D) 6 (D) o

@a @Idy Qg 219 / SPACE FOR ROUGH WORK



97.

98.

;?: ?“Q 696% 98 B9a7Re gge 635y

(A) 0%e gea PARIQ dalie 96
SRR QeaIT QIgIg g4 |

(B) 8110 ILEING! 8 Bl 9del ogol
QNG K2 |

(© d9idie 298q1Q efaigad |

(D) 4”1 AAQAY ANIIS 9TG! ARSEQ
Qe ARPaIaeeng |

+ c
B E

Q@@ ABC 66 /DAC 9@ Q@84 616 | Qe
AB=AE G AE=EC 29, ZABE @ agaiéd

e@eo 7

SET - @

97. Which of the following is
characteristic of open ended questlons ?

(A) Unavailability of specific answer
impairs a student’s ability to reach
a conclusion.

(B) It improves the creativity and
thinking capacity of a student.

(C) Itreduces student’s self-confidence.

(D) It is impossible to evaluate the
problem solving competency of a
student.

TEACHERS

In given AABC, £DAC is the exterior
angle. If AB=AE and AE=EC,
calculate ZABE :

(A) 18° (A) 18°
— (B) 36°
(C) 48° il

(D) 72°
(D) 72°

og @igy ale 919 / SPACE FOR ROUGH WORK



99,

100.

101.

s [lal;

dREaQ 9I2a e4IQ 1

f 1260 @

@WEo! 2 7. 626, 126 98090 €ALTR

E@EH ?
(A) 3.95 m2
(B) 7.04 m?
(C) 1.97 m?
(D) 8.02 m?

0.272 + 0.1363 @ €AY 6@6E

(A)

(B)

(©)

(D)

69R6 6RINEde gga &4

3
22

a1
100

kel
22

1
2

2ee' ?

(A) QI86Q Q°%l 6 9gq 69¢ Qe

(B)

(©)

(D)

QISOe ANQY AL QIg &
geieel @ae|
QIdioe deIegee al

JISoR 2ere B Aeyid
@A

v
14
o
v
n
-

Q

<

QT QY A1 IR / SPACE

9.

SET -[C
The diameter of the base and height of 5
cylinder are 1 m 12 ¢m and 2 m
respectively. What is its curved surface

Area ?

v 3.95 m?
m 7.04 m?
1.97 m?
8.02 m?
E:Sn is the sum of 0.272 + 0.1363 ?
d m
) 22
3
2
aw

100
9

ich is the specific behaviour of
understanding based questions ?
) Identifying Mathematical

definitions and formula.

Propose alternate methods for
solving Mathematical problems.
Verifying  the results of
Mathematical generalizations.
Mathematical estimation and
verification of proofs.




102. “‘UANO 60@d

QUK €0, QG g U@ QYW@ Haa

o~~~

aANEQ 2GS KR’ - a3a QDA ?

(A) 6%. Auiee

(B) QIR 9ag

(C) oRe¢
(D) €90Q PR

103. 660 fc@ o1d 9@ 83_@ 6916~ 69 E_
6915 9 QaIFEN 1 & 25 6. @ 1
€Q ZCQQ @6@ | caInQ 64

6Q66 ?
(A) 4240 m
(B) 4440 m
(C) 5100 m
(D) 5340 m

104. CEQ)IQ 6090 966 FTINRE AT QEREY

26¢ 7
(A) Q&I Q&S

(B) 2@ @@eIq 2Ige g8 @6S,

(C) 2QT @A

(D) Qa@G Q*dyl EReel

SET -(C)

102. “Abstraction is the strength of

Mathematics, but it will be useful if it
involves maximum number of specific

Ao @@, 0@ 9|

situations.” - Who said it ?

, 1aget
Lipman Bers

(C) | Hilbert

( 3@ Jeans

Jong train crosses a bridge and a
1 min 25 sec and 11 sec
What is the length of the

ely.

ine of the following 1s affective
teaching Mathematics >

nting numbers

erested in Solving Mathematical
roblems

g Mathematcal Problems

te the number atter
tiphcation

S

e @idy I AIF / SPACE FOR ROUGH WORK
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105 WiN VIRIG GRWe Gdle daien aie 9w 105. Which of the following is not an example

AV )W @IOYEET 6 7 of enrichment programme for a student

of Mathematics ?
(A) ewlad Qaail Aaidifea Eey (A)

Helping fellow students in solving
ARIENNING ARG WO

problems,
(B)  QIEOK YIEMIONIF HICHIes QG (B)  Providing opportunities to organize
geulal cLw Mathematical seminars.
() QIR QY Fhe Area d@1ela (C) Attempting to solve problems of
QANIQY AR QIR 86 608 @R students within school hours.
(D) Qe A/E QING)N Jge @aQ! (D) Preparation of new teaching aids.
106. 360 Q 671G QEINING QG4 6@66 7 106. What will be the total number of factors
of 360 ?
(A) 20 (A) 20
(B)y 22 B . 22
(€) 24 (C) 24

ad d
107.

107. 6918\ 6¢RRI] 12% NAEQ G @ISR | A toy was sold for a profit of 12%. If it
6HRAEITR T 2.40 AYQ QIN6Q @ was sold for Z 2.40 more than it was sold
QaIQIRaen, 15% NN 62K | 6669 for, then profit would have been 15%.
6UREITR @Il QIF1 6R6E 7 What is the cost price of the toy ?

(A) 114 (A) T 114
(B) T80 (B) T80
(€ T90 (C) T90
D)y 7B (D) T 75

QT @I9Y 91 QIR / SPACE FOR ROUGH WORK

((‘ontinucd)
OTFET/P-1 (40)
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108. SEI06Q Q@ GVAIPR 2G1 1T 6ok G8OE | 108, Which method is adopted to establish

UYWL SQAQIXTS ? formula i Mathematics ?
(A) el (A)  Induction

(B) T<eeqie (B)  Deduction

(C) Jeqaa (C)  Analysis

(D) Q°cg8a (D) Synthesis

109. 6QIEN A9, G 1 Q9IER 15 GBS QM@ | 109. A clock shows 15 minutes extra time per
If it is set at accurate value at

Ay AG%:M | 99 3:00 pm 6969 Q99 hour.

@9/196Q OR QN8 60dIeel @f QaIRirea 3:00 pm, what will be the actual time
QY QUIDIN. €969 6QT DLIEQ 8:00 pm when this clock shows 8:00 pm ?

6291 6977 RS AN €96E 6RINYS ?

(A) 7 pm (A) 7 pm

(B)
(©)
(D)

e (DL 7:30 pm
110. 696 < 7 a : a acH.jwmh when

TEACHERS

Q0 PEM, NDEAY QaAIKEN 1,2,3,4,50 divided by 2, 3 5. 0 and 7 leaving

0(ge) 629 ? remainder 1. 2. 3, 4. 5 and 0 (zero)
respectively 7

(A) 419 (A) 419

(B) 278 (B) 278

(C) 119 () 19

(D) 121 (D) 121

aa @idy aid 919 / SPACE FOR ROUGH WORK
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4

11 2)wde g 6aut ade 8819196 IS 111. Which one of the following is not linke

QEREY Q9 @60 Q1P 9 QIS
QRID0 Q6T ?

(A) gNRIR gae
(B) 6461 QNS
(C) Qo6 *6Q!

(D) <8

112. Q60 698 966N Q°wyE

2AVHO 7
3
(A 5
15
B 16
12
© 17
13
(D) 16

Q@ QI AR YR

with aims of teaching Mathematics

=

h of the following rational numbers

da

OTET/P-1 (42) (Continued)
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111. Which one of the following is not linked

111. @QRge FuE 6eEe adie daI9Ra A0
with aims of teaching Mathematics ?

QEREY 9Y8 @09 AIe 98 QIGYQXe

@0I9Q Q6% 7

(A) govRIe IR (A) Recognise

(B) 68611 SRIGNPAE (B) Classify

(C) 966 aeQl (C) Infer

(D) Q&< (D) Understanding

112. @ 112. Which of the following rational numbers

® 1 ® 1
© 1 © =
0 © =

Qe @Iy QIR 819 / SPACE FOR ROUGH WORK

OTET/P-1 (42) (Continued)



113. J91866 Gag) gg 0 g

IR A
IS 26 ? S99

(A) Q€RING 080 goIe aig QLG aqe!

(B) 9@« geIe a8dea miqagg)

SET -(C)

113. Which condition is necessary

to ensure
objectivity of the test ?

(A) By éncouraging  descriptive
answers.

(B)

N By adopting subjectivity in scoring
b procedure. |
(C) 6QIEY 9Q° 6eae AlQ 631G QG!Q' (C) By asking questions which have one
QI 99 a8 ' and only one answer.
(D) 2KAIF 9§ aQIae! (D) By putting guessing questions.
i TEACHERS Feww
. 6QITq IS gu G«

114, &9 Qg A breadth 9 m and height 8 m. How many
El?JIQGﬂf 12 o d d out of it ?
Tl addaze
@al Izl
(A) 32

(B) 28
(B) 28
(C) 24
(€ 24
(D) 48
(D) 48 GH WORK

ag eidy Qi 919 / SPACE FOR ROU

(Continued)
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1106.

CUlOd FIRGIRIe GHeIe eagl 79 A |
Sl CIaTIMeR W1 6eel e Aeeq To
GUleea T 2244 W16 4 | QEQITR 6RgTW

aee 7

(A) 8453 m”

(B) 8325 m’
(C) 8532 m’

(D) 8345 m?

TEACHERS

oa 56a AB Qa8 Q4IQ 626m ¥ O @Y
e @Q |

(A) 40°
(B) 50°
(C)  60°

(D) 80°

OTET/P-1

SET -(C|

115. A rectangular garden is 79 m wide. It

costs T 2244 to fence it at T 6 per meter.
What is the area of this garden ?

8453 m?
8325 m?
8532 m?2

8345 m?>

the given figure, if ABis the diameter
of the circle, find the value of x.

(Continued)



117. QIBEQIT QR6Q 641G Q
BRIee 8Q0esa gode
A.B,C.D,E gsa duig
C Q9Q @QIoe 40 QQl
A Q89 QYR 6age 7

Y68 621RgQ) yig
| RYPRa fing
B8 | E Q@ meaq)
N U 6RIReER,

TEACHERS

(A) 672 Q9Ia

(B) 824 QaIn

(C) 762 QEIql

(D) 912 QeI%

SET -(C |

117. The paddy produce of 5 blocks
depicted as A, B, D, Ein the given
pie chart. If the produce of T is 40 quintal
more than C, then what is the total

1&::. of A?

are

672 quintal

824 quintal

) 762 quintal

D) 912 quintal

Q@ @idy aIg 918 / SPACE FOR ROUGH WORK
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SET-|C

E. 118. .
Jq,/\ 6a—>5 3 B
A -l \Q\F . N 40 6a—5 )
i
po10at5 N e 10a+5 D .
@8 9960 AB||HG 626m, a Q A1IR 6960 ? In the given figure, AB|[HG. What is the
value of a ?
(A) 15 (&) 15
(B) 25 ® 25
(C) 7.5 © 75
D) 5 (D) 5
Vi, PRIS QQ@@Q’ P,Q R 8 S 6ai8l @@ 119. Ifangles P, Q, Rand S of the quadrilateral
3:7:6:4 HGEISRC 79, 6063 PQRS taken in order, are in the
ratio 37 6. 4 then
(A) PS||QR (A) PS| QR
(B) £ PQI[ SR (B) PQ]|SR
© PRIQS a aR 105
(D) PQIIQR Qi QR
120. 6918 QEF JEQEQ goQAn A Q°6Ml | 120. How many lines of symmetry are there
@60 7 in a regular pentagon ?
(A) 4 (A) 4
®B) > (B) 5
(C) o Q) 6
D)y 7 (D) 7
ea @idy aie gie / SPACE FOR ROUGH WORK
/
- )
OTET/P-1 (46) (Continued)



121-

122.

123.

1699-6001q sgig AU 2ge
F6m-A6ql qige LA Zge
QIFERS i8R Ziqe

QAGING Zige

Q96 YUY Fe88 q& C1RIG) 6RRE
RANCQA IUAEQ FVER 2°8 F68T o8 ?

(A) ©1Q 628l
(B) QOge!
(C) 906918
(D) | e8ael

QIYER U& @gHaQ BT @G,f AaoeR 15§
cosian 696w aifica era Bew 12{]
cogiad | 9@ afia aigel 1 gm/;c @9,
Qg€ 2llca8@ FaQ 6REe 6¥<

(A) 0.8

(B) 0.25

© %

(D) °

oyvrer /-l

YVhich Act passed by British Parliament
In 1919 did become Goye

" rmment of India
ct?

(47)

(A) Montagu - Chemsford Reforms Act

(B)  Morley - Minto Reforms Act

(©)

Cabinet Mission Act

(D) Rowlatt Act

122. Which of the following characters is not

a part of education through computers ?

(A) speed
(B)

(©)

accuracy

storage

123. A block of body weighs 15 N in spring
balance in air and its weight in water
shows 12 N. If the density of water 1§
1 gm/cc, what is the specific gravity of
the block ?

(A) 0.8

| o°

(Cuntinucd\



124. SN0 05LREH ODYELAE 080 UFAGE

125

@6 OI9 3 SP9IY AER D14 JAR VIR
BRI @69 e 6aIEq 6gaie AN8
Souidis 8¢ Geda cocn | O8Ga 698
2QxI€Ic OR 7

QY66 29y YERINE
J9ee Qo @Y 2QAUIR ALK

(A)
(B)

6000 U466 AAVTR
9I3 2106 QRGO

(©)
(D)

ARUIGQ! ZIVPRIE 69F MIQ ALIER ?

(A)

124.

1235,

SET -(C)

Teacher instructed all the students of a
class to study the difference between
weather and climate separately in the
school compound. Which is a correct

concept of the procedure ?

(A) Limited period of observation

(B)  Easier for the teacher to investigate
the work

(C) Possibility of daily observation

(D) Eradication of misconception

Which gas is released from landfill
wastes ?

(A) Methane

126. E th Wthem most part
(A) @QIE Ladakh
(B) @Ig G @I (B) Jammu & Kashmir
(C) a&le (C) Punjab
(D) @MIom gead (D) Himachal Pradesh
127. QIQG6R 689 IQY 996 AQE YL AIRA 127. With which crop was the green revolution
eLImYml ? started in India ?
(A) JIe (A) Rice
(B) <@a (B)  Wheat
€) oy (C) Sugar cane
(D) «@ql (D) Cotton
OTET/P-1 (48)
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128. SNIRER QI2Fe Zegise cog ofiee
2ISAYRQ! &g ? \

(A) AR

(B) <R wde
(©) 2SR 9de
(D) Fude

129. UQEE JRUIBR QI 69 0 QAIANG ?

(A) @981 969Ege QeI
(B) dmigiee 2e d8IQ AR
(©) d”U1ea AVITe ADILVG!
(D) dKIdITQ U ]IQ AN

130. QT 0QAQl €96R 6RACR ANNER
ceIQead ?
(A) QIS a
(B) 2ASR

(C) elgaIgl

(D) giegl

coa 2I@al casld @lad g 6Q4
99e99?

la
4= E
(A) 763

131.

(49)
OTET/P-I
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128. Which vitamin is required during the
early stage of pregnancy ?

129.

130.

131,

(A)
(B)
(©)
(D)

Thiamine
Folic acid
Ascorbic acid

Niacin

Which one is determined by the

placement evaluation ?

(A)
(B)
(©)
(D)

Entry behaviour of pupils
Minor learning difficulties of pupils
Overall achievement of pupils

Major learning deficiency of pupils

Which of the following does not change
uring the melting of ice ?

ensity
lume

(C) Temperature

(D) Phase

Which meridian is very important for

India ?

(A) 76%0 E
(B) 82 %o E
© 86%—0 E
(D) 92 % E

(Continued)
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132. 6@UC 2Ry H6RIT 0Iq qag ? -
> 132. Which one is different from other three ?
(A) Ul
Y Tk (A) Potato
(B) @eae
L (B)  Sweet Potato
C @l
© 9 (C) Radish
) diga (D) Carrot
133. Y &
gﬁ?géj%ea QIRLe ARIge dIFg1 QUL 133. To whom a teaching aid in the teaching
e of Geography is meant ?
i e (A) Student
(B) dae (B) Teacher
(©) @ea aig 6 dge (C) Both Student and Teacher
(D) QYR @) Schsal
134. dQIQI9 B d44 69269 daflidIae 134. In the-statistical analysis of quantitative
QeQadll diRt 2R JQAEIRTE research.in teaching-learning processes in
QEIILIER 6RATR ADEYRQ| dee QR ? education, which of the following is not
ired ?
(A) 98 aime a g Intelligence test
(B) 4Q6 QAR JQIKE (B) Learning achievement test
(C) QIR QRS (C) Physical test
(D) €996 & Q6 (D) None of the above
135. QIQO10 AAJINE QRIKERI @9 ? 135. Who 1is the protector of Indian
Constitution ?
(A) Q9 (A) Pre'sident
(B) 6RIRAR (B) Lok Sabha
(€C) eyl (C) Rajya Sabha
(D) QESIQ YIRS (D) Supreme Court
—_— (Continued)
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0. 6RIE Q19 ag QemEGda Qe

B ANS 20 km/hr 6eqieq g Qe B

o AT 9ENS 30 km/hr 6egieq Catm |

QM9 QY66 DINT6 YIQI9E Q0 @6
?6e 7

(A) 25 km/hr

(B) 24 km/hr

(C) 225 km/hr

(D) 264 km/hr

137. 694 O8GC 00694 FRIE gode dxIalea
UIYS Q6L ?

(A) Q@A

(B) @I¢
(C) €EROPR QIAN]A

(D) €00 COREE MORIA

GQ IAI q

SET -(C |

136. A vehicle moves along a straight path
from “A" to ‘B’ at a speed of 20 km/hr
and returns from ‘B’ to ‘A" at a speed of
30 km/hr. The average speed of the
vehicle during the total journey is -

(A) 25 km/hr

(B) 24 km/hr
(C) 22,5 km/hr

(D) 264 km/hr

137. Which is not included under exhibition
mediated

environment sclence

TEACHERS
d

Drawing diagrams on blackboard

(C) Television programme

(D) Use of tape recorder

5 a af § » el ol sO d
138. €266 QIONIGIEE G096 696 RI@ 27°C | 138. At what temperature. & m::— €30
[RG QEIGE 69 7 will be double of its value at 2 ¢
(A) 54°C (A) 547C
NN
By 600°C (B) 000 ¢
‘ )  1200°C
(M) 12000C (1))
OTET A (51) (Continued)
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the following which are

139, PNYS

UG 6RRAINER QeRg. R Qe | 139, Out of
Qg ?

isoelectronic in nature ?

() N, (i) co (i) NO*

i) N, () CO (1)) NO*
(iv) CN-

(iv) CN-

(A) (i) and (ii)

(B) (i) and (iii)
(C) (), (ii) and (i)
(D) All

(A) (i) & (i)

(B) (i) 9@° (i)
(©) (i), (i) 9 (i)
(D) Qfg=e

140. 68Q FIRQ o0 CNIFE gRal Fae AqqIa | 140

N . Which standardised method indicates the
QQ@IQ gelxelng ?

consistency of test scores in evaluation

process ?
(A) 6L (A) Validity
(B) Sgsel (B) Reliabilit
(C) ueeidael (©) ' Usability
(D) <gFeel ) Objectivity
141. QI90RQ LT 2°6 CRae ? a : the longest part of the alimentary
canal ?
(A) qIege! (A) Stomach
(B) 9ldaw1 (B) Oesophagus
(C) Qeeg (C) Large intestine
(D) gQla (D) Small intestine

142. QIQYI9RIER 84 699 9AG AGi6ed §aa6a | 142. Which two environments are learnt by
AIQdl dielig ? child during childhood ?
(A) 9196 8 AN (A) Natural & Social
(B) QIR G 6LloR (
(C) €Rloa 8 G (C) Physical & Cultural
| (D) Cultural & Social

B) Social & Physical

(D) Qe 8 ANPR

(Continued)
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143. QIE¥I@ 3060 @E2IQ AMIQIP 5768 699 | 143. Which method is most useful for teaching

deeC UN® U6 2Eg ? history at primary level ?

(A) adyeage (A) Observation
(B) gode (B) Demonstration
(€) 99 @ae l (C) Story-telling
(D) g (D) Project

144. ‘21°93@1Qw do@Iaca 6eQ 12748 4R 144. To whom are the Union Council of
@194Y9I1Q QL AR RN Qea ? Ministers accountable for various
functions in the Parliamentary form of

Government ?

(A) QUga@ (A) President

(B) Quleaa! (B) Prime Minister

(C) 6RIRAR (C) Lok Sabha

(D) 699 @RARIQE (D) People of the country

145. 5619 201§ 6Qa0 e deeoe oI 45. Which one of the following is not a
@

GLGQ\‘“ ? use gas ?

(A) " 2eFIEe) a rbon_dioxide
(B) G62IR (B) Ozone

(C) QPR (C) Argon

(D) @eaa (D) Methane

146. QIa0 QARG €96 QI AGI9R 2I6DIS | 146. Which article of Indian Constitution

AAGER qgoe 6QUE ? indicates about an Election Commission ?
(A) dlel 73 (A) Article 73

(B) Q74 (B) Article 74

(C) il 326 (C) Article 326

(D) el 324 (D) Article 324

OTET/P-1 E3) (Continued)
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IRWQ @AI8 9eIee 699 6alg CJ

s 2 147. Which disease is caused due to mercury
poisoning ? |
(A) 6QRIg
- (A) Pellagra
(B) QARSI
S o (B) Minamata
2 Qe
" % (C) Itai-itai
(D) &eeeq

(D) Rickets

148. .
W dar QA1 Q°gIN 669 148. When did the first struggle for Indian

eLIMYml ? Independence take place ?
(A) 1757 (A) 1757
(B) 1857 (B) 1857
(C) 1919 (€) 1919
(D) 1942 (D) 1942

149. 216 2IFO 6AITER &'d QAT QGG ? 1 149. What should be done when fingers are

burnt ?

(A) dquiaie and AAIael a a To.apply Aloe vera lotion

(B) agiaidieq 8¢ UE @Il To dip the wound in cold water

(C) [eINq ARECIS (C) To bandage the wound
(D) @@ Q@ -~ (D) To pour ink
150. AINGEI @FIER oo 68 QRe 99 ? 150. Which energy is used in sailing boats ?
(A) Qe (A) Tidal
C) 6&Q (< B
((D)) ) (D) Thermal
-00o0-
=g O 0=

(t ‘ontinued)
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